CALCULUS: 6raphical, Numerical, Algebraic by Finney, Demana, Watts and Kennedy
Chapter 2: Limits and Continuity 2.3: Continuity pg. 75-86

What you'll Learn About

¢ Continuity ata point
+ Continuous Functions
¢ Intermediate Value Theorem for Continuous Functions
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4a. Does f(2) exist? 4b. Does lim f(x) exis
4c¢. Does .lir? FxX)= F(2)
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Determine the type of discontinuity
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Given the following information, sketch a graph of f(x)

A) f(x)exists,but 1‘11_1;1; doesnot
Vs = ¢
ur.:ywll'-'h- 5
B) f(5)exists
lin]_| exists
f is not continuousat x=35 .
I
5
Find a value for a so that the function is continuous
[x2-1 x<3 5
47) f(x)= -] =
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